Dammam Community College
MATH 011  

Past Exam Questions  

 Section – 3.2
1. If 
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 is divided by  x + 1, then the remainder is:
Answer:  
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2. If  
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 is divided by 
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 , then the remainder is:
Answer:   
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3. Upon dividing 
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 by  x + 3, we get a quotient and a remainder equal to:
Answer:  quotient = 
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4. Find the value of  k  for which –3 is a zero of the function 
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Answer:    
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5. Find the value of k so that 
[image: image10.wmf]9

3

)

(

3

4

+

-

+

=

kx

kx

x

x

p

 is divisible by 
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Answer:     
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6. Use long division to determine the results  of   
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Answer:   
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7. Find the values of  k  so that when 
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 is divided by x + k, the remainder becomes equal to  – 4
Answer:    1, and  – 4 
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